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 �2%�>��2#O'0�%0N#>��'�1�/N2#?ค/2#2 2ค1�O'0� 2N�O��N1�2%�%>/2%�2�N�O�1$N2�$>P�  N�AP1��2�
�2%�>��2#O'0�%0N#>��'N�O��2%�%0N#>��'�2��2%��>�1�>�2��1��?�?P�N2�#2  /N2#?ค/2#21�ค'O1��1�
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� 2N�>��2%Q��O2��N2�N  N AP1Q�ON�%?$�N�?$��2%� 2�2��1��?�?P�N2�#2�O/$ 

�2#%0N�?$��%0�%/�#/2�R�$  /N2�O/$�2%�1�� 2O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�                      
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 1��2  O�� 1��2�O1��>P� O'0O���2%� 2N�>��2�  N AP1N�O�Nค%AP1�#A1Q��2%Q�O���%0#2�  /12�B  1B��%�์  
O'0�%1 $2�%�N2�N  R�O1$N2�#?�%02>��>"2 O'0�%02>��>�'  #?ค/2#P�%N�Q2  N�>��%0P$��์2C�2B�O�N�O1��>P�
O'0�1�2�1�ค/2#�O1��2%�1��%0�2��  �@�O#O/N21�ค์�%��ค%1�2N/��O1��>P��0#?O�� 1��2�O1��>P��?P�?21�
N ?$�R%�O�2# O�N/2�R#N22#2%��N��?Q�@��'�2%� 2N�>��2��?PN�>��@Q�R�O  �OR#N22#2%��?P�0�N��1�ค/2#2 2N%O��1�
O�� 1��2�O1��>P�R�O  �1��1Q�  1�ค์�%��ค%1�2N/��O1��>P��@��O1�#?Nค%AP1�#A1�?P2 2ค1�Q��2%�%/�21��2%
� 2N�>��2�/N2N�O�R��2#/1��B�%02�ค์/%A1�%%'BN�O2/#2$/%A1R#N  1$N2�R%  �@P�  <%0���>��2#=  O'0  <%0��
�%0N#>��'=  �0N�O�Nค%AP1�#A1Q��2%� 2�O1#C'�N2�N  #2�%1��%B�O�OR�N >P#N�>#/%A1O#OO�N$B�>�2%� 2N�>��2� 
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 �2%�>��2#O'0�%0N#>��'O�� 1��2  N�O�Nค%AP1�#A1�?P� 2N�O�Q��2%�%1��%B��%02>��>"2 �1�
Pค%��2%�?P� 2N�>��2%1$CN  P�$�?P�2%�>��2#  /#2$�@�  �>��%%#Q�Pค%��2%�@P��C�11�O��#2N AP1Q/O�O1#C'
�O1��'1�N�?P$/�1��2%� 2N�>�Pค%��2%/�>��%%#  �ั�/2�?P� 2'1�N��>�1$CN  �%02>��>"2 �1�/>�?�2%� 2N�>��2�Q/O
'B'N/�  คN2Q�O�N2$Pค%��2%/�>��%%#2C�N�>��/N2�?P� 2/��R/O  �'BN#N�O2/#2$/'1��1�Pค%��2%/�>��%%#R#NR�O%1�
�%0P$��์/%A1R�O%1��O1$�/N2�?Pค/%�0N�O�  N�>��ั�/2Q��2%ค/�คB#คB�"2 �1��2%� 2N�>��2�  N2?$N/'2Q�
�2%�%/�21�  /%A1N�>�ค/2#�1�O$O�Q��2%��>�1 �> �2�"2$Q�/�N /$�2�/%A1%0//N2�/�N/$�2�                               
O'0�'BN#N�O2/#2$�?PR�O%1��%0P$��์�2�Pค%��2%/�>��%%#   �2%�%0N#>��'  คA1  �2%�%/�21��'�2%
� 2N�>��2�Q�%0//N2��?P� 2'1�� 2N�>��2%/%A1"2$/'1��?P�2%� 2N�>��2%2 2N%O�N2%O�2>Q�R�O'O/  �@P��2%�%0N#>��'
N�O�2>P�� 2N�O�N�N�N�?$/�1��2%�>��2#  �2%�%0N#>��'O���2��0N�O��2%�N��?Q/N2O���2��?P� 2/��R/OR�O#?�2%
��>�1�>/%A1R#N  1$N2�R%  11�N�O��1/�?Q/1�/N2O���2��?PR�O� 2N�>��2�R�O'O/�1Q�N�>��'N�O�1$N2�R%  � 2R�2CN
ค/2#2 2N%O��2#O���2� /%A1�2#/1��B�%02�ค์ �?P� 2/��R/O/%A1R#N  �@P��'�?PR�O�2��2%�>��2#O'0�%0N#>��'
�A1/N2N�O��O1#C'$O1��'1� �?P22#2%�� 2R�Q�OQ��2%�%1��%B�O'0�1�2>�Q�Q��2%�1�� 2O�� 1��2�O1��>P� N AP1Q/O
�%%'BN�O2/#2$2C�2B�O'0N�>��%0P$��์�N1�2%Q�O���%0#2�1$N2�คBO#คN2  P�$ค 2�@��@��%0�2��P�$%/#N�O�
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  �O/$%0N�?$��%0�%/�#/2�R�$  /N2�O/$�2%�1�� 2O�� 1��21�ค์�%��ค%1�2N/��O1��>P�  
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  (2)  � 2N�>��2%�>��2#O'0�%0N#>��'O�� 1��2 

                     (a)  %2$�2��'O'0N2�1ค/2#N/O��N1�CO�%>/2%�O1��>P�  N AP1�?P�CO�%>/2%�O1��>P�N2�1�'�2%
�>��2#O'0�2%�%0N#>��'�N12"2�O1��>P�O'0ค�0�%%#�2% 1��2�O1��>P�  %O1#�1Q��%0�20�'�2%�>��2#
O'0�%0N#>��'O�� 1��2Q/O�%0�2��Q��O1��>P��%2�Q��?PN�>�N�$"2$Q�2>�/O2/1� �1�O�N/1��?P�CO�%>/2%
�O1��>P�N2�1�'�2%�>��2#O'0�%0N#>��'�1��'N2/O'0�O1��>��%0�20P�$N�>�N�$R#N�O1$�/N222#2>�/1� 
1$N2��O1$�?'0/�@P�ค%1Q�"2$Q�N�A1��1�/2ค#�1��B��?  
  (4)  O�N��1Q�ค�01�B�%%#�2%/%A1ค�0� 2�2�N AP1�N/$��>�1�>�2��2#�?PN/O�2#ค/% 
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       '1>�ำ0(ล�ำ1!> !ำ/Oล>'1>N/>%(ลO(%พ?�%ำQ/O'1>�ำ�%Q%#O1�">P%#1ำ&Q%#?P
N'> N(0.ำ0Q%2>&/Oำ/?%%?&O!N/?%#?P(CO&1>/ำ1#O1�">P%N2%1(ล�ำ1!> !ำ/Oล>'1>N/>%(ล
 ?��ลNำ/Oล>!O1�'> '1>�ำ0P 0N'> N(0R/N%O10�/Nำ2ำ/2>&/?% P 010Nำ�%O10'?ล>/%@P�ค1?Q�
.ำ0Q%N A1%$?%/ำค/�1�#B�'? 
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1ำ0�ำ%(ลOล>N2%1ค/ำ/N/O% �@P�R O�ำ��ำ1!> !ำ/Oล>'1>N/>%(ล
O(%พ?�%ำ!N1(CO&1>/ำ1#O1�">P% 

  ำN%>%�ำ1!> !ำ/Oล>'1>N/>%(ลO(%พ?�%ำ 
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  �ั��B�1��2%�>��2#O'0�%0N#>��'�1�/N2#?ค/2#2 2ค1�O'0� 2N�O��N1�2%�%>/2%�2�N�O�1$N2�
$>P�  N�AP1��2��2%�>��2#O'0�%0N#>��'N�O��2%�%0N#>��'�2��2%��>�1�>�2��1��?�?P�N2�#2  /N2#?ค/2#
21�ค'O1��1�O���2��?P R�O /2�R/O/%A1R#N   %/#�1Q ��2%#?2N / �%N/#�1�"2ค�%0�2��1$N2�O�O�%> �                 
1�ค์�2%�%>/2%2N/�� 2�'�O2$/2�  Q��2�01�ค์�%��ค%1�2N/��O1��>P�#?"2%0/�O2�?P�?P�0�O1�Q/O�2%�%>�2%O�N
�%0�2��  �@�� 2N�O��?P�0�O1�#?�2%�1�� 2O���2%�>��2#O'0�%0N#>��'  N AP1/1��@��%02>��>"2   
�%02>��>�'�1��2%� 2N�>��2%Q��O2��N2�N  N AP1Q�ON�%?$�N�?$��2%� 2�2��1��?�?P�N2�#21?��O/$  P�$�1Q��1�
Q��2%�>��2#O'0�%0N#>��'O�� 1��222#2%��1�/2�N�O�O���1��1Q��1�R�O  �1��?Q 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



%2$�2��'�2%�>��2#O'0�%0N#>��'O�� 1��2  1�ค์�2%�%>/2%2N/�� 2�'�O2$/2� 4 
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  �2%�>��2#O'0�%0N#>��'O�� 1��2  N�O�Nค%AP1�#A1�?P� 2N�O�Q��2%�%1��%B��%02>��>"2 
�1�Pค%��2%�?P� 2N�>��2%1$CN  P�$�?P�2%�>��2#  /#2$�@�  �>��%%#"2$Q�Pค%��2%�@P��C�11�O��#2N AP1Q/O
�O1#C'�O1��'1�N�?P$/�1��2%� 2N�>�Pค%��2%/�>��%%#  �ั�/2�?P� 2'1�N��>�1$CN  �%02>��>"2 �1�/>�?�2%
� 2N�>��2�Q/O'B'N/�คN2Q�O�N2$Pค%��2%/�>��%%#2C�N�>��/N2�?P� 2/��R/O  �'BN#N�O2/#2$/'1��1�Pค%��2%/
�>��%%#R#NR�O%1��%0P$��์/%A1R�O%1��O1$�/N2�?Pค/%�0N�O�  N�>��ั�/2Q��2%ค/�คB#คB�"2 �1��2%
� 2N�>��2�  N2?$N/'2Q��2%�%/�21�ค/2#�1�O$O�Q��2%��>�1�>�2�"2$Q�/�N/$�2�/%A1%0//N2�/�N/$�2�  
�'BN#N�O2/#2$�?PR�O%1��%0P$��์�2�Pค%��2%/�>��%%#  �2%�%0N#>��'  คA1  �2%�%/�21��'�2%� 2N�>��2�
Q�%0//N2��?P� 2'1�� 2N�>��2%/%A1"2$/'1��?P�2%� 2N�>��2%2 2N%O�N2%O�2>Q�R�O'O/  �@P��2%�%0N#>��'                             
N�O�2>P�� 2N�O�N�N�N�?$/�1��2%�>��2#  �2%�%0N#>��'O���2��0N�O��2%�N��?Q/N2O���2��?P� 2/��R/OR�O#?�2%
��>�1�>/%A1R#N1$N2�R%  11�N�O��1/�?Q/1�/N2O���2��?PR�O� 2N�>��2%R�O'O/�1Q�Q/O�'N�O�1$N2�R%  � 2R�2CN
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 5.1  1>N&?0&#?PQ�OQ%�ำ1!> !ำ/Oล>'1>N/>%(ล 
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1. 2#2�>�2"2�O1��>P��?P2"2�O1��>P�ค1�N'A1�� 2�/�22#ค� 

2. �COO���%0�2ค#�O1��>P��?P�%0�2ค#�O1��>P�ค1�N'A1�� 2�/�21�ค� 
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5. �CO�%�คB�/B�>�?P�CO�%>/2%�O1��>P�ค1�N'A1�� 2�/�21�ค� 
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1?�/�@P�ค�� 2/�O2�?PN'�2�B�2%�1�ค�0�%%#�2% 

  P�$ค�0�%%#�2%�1Q�/#�Q/O#?/2%01$CNQ�� 2O/�N�ค%2/'02?P�?O'012��0R�O%1��2%ค1�N'A1�
1?�R�O 
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2. � 2N�>��2%�>��2#O'0�%0N#>��'O�� 1��2 
3. %2$�2��'O'0N2�1ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'O�� 1��2�N1 
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5.2  />$?�ำ1Q%�ำ1!> !ำ/Oล>'1>N/>%(ล 

 �2%�>��2#O��$B��022�%์�2% 1��2O'0O�� 1��2�O1��>P�  N�O��2%�%/�21�Q�%0//N2��2%
� 2N�>�Pค%��2% 1��2O'0�>��%%#�?P� 2N�>��2%�%>��1Q�/#�Q� AQ��?P�1�1�ค์�%��ค%1�2N/��O1��>P��%0� 2�?
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O'01B�2%%คQ��2%� 2N�>��2��2%�%0N#>��'O�� 1��2�O1��>P�  N�O��2%�%/�21��'�?PN�>��@Q��%>�N#AP1� 2N�>�
Pค%��2%/�>��%%#O'O/N2%O�  N�%?$�N�?$��1�/1��B�%02�ค์�?P� 2/��R/O  P�$Nค%AP1�#A1�?PQ�OQ��2%�%0N#>��'  
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1. �ำ1� ำ/% /O/�N/ลำQ%�ำ1!> !ำ/Oล>'1>N/>%(ล 

ค�0�%%#�2%�>��2#O'0�%0N#>��'  � 2/��/O/�N/'2Q��2%�>��2#O'0�%0N#>� 

�'Pค%��2%/�>��%%#  P�$ค 2�@��@�ค/2#N/#202#�1�O�N'0Pค%��2%/�>��%%#  �1Q��?Q  � 2/��Q/O#?�2%�>��2#
O'0�%0N#>��'�2%� 2N�>��2�Pค%��2%/�>��%%#�B�ค%1Q��?P� 2N�>��2%O'O/N2%O�O'02%B��'�2%�>��2#O'0
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ค�0�%%#�2%�>��2#O'0�%0N#>��'1?�ค%1Q�  %O1#2%B��'Q�"2 %/#1$N2��O1$�?'0  _  ค%1Q�  O'O/%2$�2�
�'O'0N2�1ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'�N1�CO�%>/2%�O1��>P�  N AP1Q/O�CO�%>/2%�O1��>P�� 2N2�1
�N12"2�O1��>P�  ค�0�%%#�2% 1��2�O1��>P�O'0�%0�20�'�2%�>��2#O'0�%0N#>��'O�� 1��2Q/O
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�1�/2ค#�1��B��?O'0�>��%0�20P�$N�>�N�$R#N�O1$�/N2  30  /1�  
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 c.  �2�22/#2'1$ %  O2�2B/%%� �COO���%0�2ค#          �%%#�2% 
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O(%0B#$0ำ2!1์  />2?0#?0%์  พ?%$�>�  Oล>O%/#ำ��ำ1พ?�%ำ 

O(%0B#$0ำ2!1์ 
$B��022�%์�1�//1�2#B�%2�ค%2#   .0. `c61 – `cd5 

1.  />2?0#?0%์  : N/A1�O/N�/>"?�?/>!  3  %Q ำ10Nำ�0?P�0A%  O/ลN�1ำ/ำ1#>NลOล>�ำ1N�1!1'ล1 .?0                       
�ำ1#N1�N#?P0/N�>�1%B1?�1์  Oล>พ1O1/1?&!N1�ำ1N'ล?P0%O'ล� 
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N0%1��>� 1N ?$� 
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       /1���%%#  �?P21�ค'O1��1�/>�?�?/>�1$N2�$1P�$A� 
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       O'02>P�O/�'O1#1$N2��?2N/�%N/#�B�"2ค2N/� 
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0B#$0ำ2!1์#?P  _  �ำ1พ?�%ำ Oำ%Pค1�21Oำ�พAQ%�ำ% 

O%/#ำ��ำ1พ?�%ำ 

  _._   1��2%0���2%��2N�O'0P'�>2�>�2์ %0��22�2%�C�P"ค22�2%�C��2% �2%�N12%O2�  
�N1#O�# �%1��%B� � 2%B�%1�12 Pค%�2%O2� AQ��2�Q/OR�O#2�%�2� 

 _.`   1��2%0���2%ค#�2ค#�2���O'0�2��Q 2  
 _.a  �1�� 2�1�N#A1�O'0�1�N#A1�%/# 

 _.b   1��2O/'N��Q 2N AP1�2%1B�P"ค – �%>P"คO'0N AP1�2%N�1�% 
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O%/#ำ��ำ1พ?�%ำ 

 `._  2N�N2%>#2�1�2�B��2%22�2%�2B�#C'�2�$�%0�1��2%�%>�2%�2��2%O �$์ N2%>#2%O2� 
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N0%1��>� 1N ?$�"2$Q�O�%1�O�/ค>�คN2�>$#/'1� _` �%0�2% 
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คN2�>$#/'1� _` �%0�2% 
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  a.`  2N�N2%>#2�1�2�B��2%�O1��1� O�OR� �ั�/2$2N2 �>� �'1����2%!AQ�!C�CO�>�$2N2 �>� 

  a.a  2N�N2%>#2�1�2�B��2%�O1��1�O�OR��ั�/221�ค# %/#�@��2%�O1��N1�/1$11�ค/%O'02%O2� 

�2�2%O2�12�? Q/O�1��CO�?PN�?P$/�O1��1�$2N2 �>� 

 a.b  2N�N2%>#2�1�2�B��1�%0N�?$��B#��N�?P$/�1�O%��2��N2��2�> 
 



%2$�2��'�2%�>��2#O'0�%0N#>��'O�� 1��2  1�ค์�2%�%>/2%2N/�� 2�'�O2$/2� 9 

 

0B#$0ำ2!1์#?P  b  �ำ1พ?�%ำOล>2N�N21>/�ำ1N�1!1 �ำ1ล�#B%  พำ�>�0�11/ Oล>�ำ1#N1�N#?P0/   
O%/#ำ��ำ1พ?�%ำ 

  4.1  2N�N2%>#O'0 1��2O/'N��N1�N�?P$/�2�O#N�Q 2' 2ค'1�  �2%�N1�N�?P$/N�>�1�B%1�1์O'0
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2N/%#?P  a 

�ำ1&?%#@��O1/CลQ%O&&1ำ0�ำ% 

ค ำ�?QO��  :  O���?P  1  N�O�O���%0N#>���N1�Q��2%�1�� 2O�� 1��2�O1��>P�  P�$�0� 2�2%�%0N#>�O'0
%2$�2��B�N  ค%1Q�  /'1��2��?P1�ค์�2%�%>/2%2N/�� 2�'�O2$/2�R�O�%0�20Q�OO��O'O/ 
ช?่อ  อ�ค์ก@1 1ิห@1.Nว�� @ ลทO@0ห@�  อ @เ.อเ/?อ�ฯ  �?�หว?�./@ท1.�ค1@/ 
 
    

'1>N O%�ำ1'1>N/>% 
/? 

�ำ1  ำN%>%�ำ1 
R/N/? 

�ำ1  ำN%>%�ำ1 
2N/%#?P  1  ค�>�11/�ำ1พ?�%ำ#O1�">P%  
1.  #?�2%�1��1Q�ค�0�%%#�2% 1��2�O1��>P�N AP1�1�� 2O�� 1��2�O1��>P� √  

2.  #?�2%�1��%0�B#ค�0�%%#�2% 1��2�O1��>P�N AP1�1�� 2O�� 1��2�O1��>P� √  

3.  #?�2%�%0�B#1$N2��N1N�AP1�2#P 2N2#1 √  

4.  #?�2%�1��1Q�ค�0�%%#�2%2�1�2�B��2%�1�� 2O�� 1��2�O1��>P� √  

5.  #?�2%�1��%0�B#ค�0�%%#�2%2�1�2�B��1�� 2O�� 1��2�O1��>P� √  

6.  #?ค�0�%%#�2% 1��2�O1��>P�O'0�%0�2ค#�O1��>P� >�2%�2%N2�O�� 1��2�O1��>P� √  

2.  �ำ1�? # ำO(%พ?�%ำ#O1�">P%   

7.  #?�2%%/�%/#�O1#C'O'0�ั�/22 2ค1��1��O1��>P�#2�1�� 2�2��O1#C'  √  

8.  #?�2%N�>�P1�22Q/O�%0�2��N�O2#2#?2N/�%N/#Q��2%�1�� 2O�� √  

9.  #?�2%/>Nค%20/์01�$"2 �1��O1��>P�  (SWOT)  O'0�%0N#>�2�2�"2 �2% 1��2
�O1��>P� 

√  

10.  #?�2%� 2/��/>21$�10�์O'0"2%�>�/'1��2% 1��2�O1��>P��?P21�ค'O1��1�01�$"2 
�1��O1��>P� 

√  

11.  #?�2%� 2/��/>21$�10�์O'0"2%�>�/'1��2% 1��2�O1��>P��?P21�ค'O1��1�01�$"2 
$B��022�%์�1�//1�   

√  

12.  #?�2%� 2/���B�#BN�/#2$N AP1�2% 1��2�?P$1P�$A� √  

13.  #?�2%� 2/��N�O2/#2$�2% 1��2�O1��>P� √  

14.  #?�2%� 2/��$B��022�%์�2% 1��2O'0O�/�2��2% 1��2 √  

15.  #?�2%� 2/��$B��022�%์�?P21�ค'O1��1�$B��022�%์�2% 1��2 √  

16.  #?�2%1�B#1�>O'0�%0�20Q�OO�� 1��2�O1��>P� √  

17.  #?�2%�1�� 2�1��?�'BN#Pค%��2%Q�O��$B��022�%์ √  

18.  #?�2%� 2/��%C�O���2%�>��2#�%0N#>��'O�� 1��2�O1��>P� √  
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!Bลำค/  2564  –  �?%0ำ0%  2565 

1>0>N/ลำ  12  N A1% 

***************************** 

2N/%#?P  _  �O1/Cล#?P/R' 

 _.  � 2�/��CO�1�O��21��2#   `c^ ค� 
 

คB�ล?�1�> � ำ%/% 1O10ล> 

Nพ0 

          �2$ 

          /�>� 

1ำ0B 
          �P 2�/N2  `^  �? 
          `^ - a^  �? 
          a_ - b^  �? 
          b_ - c^  �? 
          c_ - d^  �? 
          #2��/N2  d^  �? 

�ำ10@�1ำ 
          �%0�#0@�12 
          #1�$#0@�12/N�?$�N�N2 
          1�B�%>��2/N�?$�N�N2 
          �%>��2�%? 
          2C��/N2�%>��2�%? 
          1AP� N 

1ำ�?พ/ล?� 

          %1�%2��2% 
          N1���/%1�/>22/�>� 

          คO2�2$/�B%�>�2N/��1/ 

          %1��O2� 
          �1�N%?$�/�1�0@�12 

          N�1�%�% 
          1AP� N 

 

11_ 

13g 

 

1b 

3g 

bc 

cg 

5_ 

b` 

 

_`e 

da 

2_ 

a3 

d 

0 

 

_f 

1g 

cc 

10e 

`^ 

21 

_^ 

 

44.40 

55.60 

 

5.60 

15.60 

18.00 

23.60 

20.40 

16.80 

 

50.80 

25.20 

8.40 

13.20 

2.40 

0 

 

7.20 

7.60 

22.00 

42.80 

8.00 

8.40 

4.00 
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21B'!1%#?P  _  �O1/Cล(CON�Oำ1N//Pค1��ำ1   ?�%?Q   

 �CON�O2%N/#Pค%��2%  � 2�/�  `c^  ค�  #?�CO�1�O���%0N#>�ค/2# @� 1Q�  `c^  ค�  ค>�N�O�%O1$
'0  _^^.^^  N 0�2$  ค>�N�O�%O1$'0  b4.4^  O'0N 0/�>�  ค>�N�O�%O1$'0  c5.6^  2N/�Q/�N12$B�P 2
�/N2  `^  �?  ค>�N�O�%O1$'0  5.60  `^ - a^  �?  ค>�N�O�%O1$'0  15.60  a_ - b^  �?  ค>�N�O�%O1$'0  
18.00  b_ - c^  �?  ค>�N�O�%O1$'0  23.60  c_ - d^  �?  ค>�N�O�%O1$'0  20.40  O'0#2��/N2  d^  �?  
ค>�N�O�%O1$'0  16.80  2N/�Q/�N���2%0@�12�%0�#0@�12  ค>�N�O�%O1$'0  50.80  #1�$#0@�12/N�?$�N�N2 
ค>�N�O�%O1$'0  25.20  1�B�%>��2/N�?$�N�N2  ค>�N�O�%O1$'0  8.40  �%>��2�%?  ค>�N�O�%O1$'0  13.20  
2C��/N2�%>��2�%?  ค>�N�O�%O1$'0  2.40  O'01AP� N  ค>�N�O�%O1$'0  0  2N/�Q/�N%1�%2��2%  ค>�N�O�%O1$'0  
7.20  N1���/%1�/>22/�>�  ค>�N�O�%O1$'0  7.60  คO2�2$/�B%�>�2N/��1/  ค>�N�O�%O1$'0  22.00  %1��O2�  
ค>�N�O�%O1$'0  42.80  �1�N%?$�/�1�0@�12  ค>�N�O�%O1$'0  8.00  N�1�%�%  ค>�N�O�%O1$'0  8.40            
O'01AP� N  ค>�N�O�%O1$'0  4.00 

!1%#?P  `  ค/ำ/พ@�พ1Q�!N1(ล�ำ1  ำN%>%�ำ%�1�1�ค์�1'�ค11�2N/%#O1�">P%  (.ำพ1//)   
 

 

/?/�O1#?P'1>N/>% ค>O%%ค/ำ/พ@�พ1Q� คNำค>O%%N�ล?P0 คNำ1O10ล>�1�ค>O%% 

1.  #?�2%N�>�P1�22Q/O�%0�2��#?2N/�
%N/#Q��2%N2�1Pค%��2%/�>��%%# 

1,897 7.58 75.88 

2.  #?�2%�%0�221# 1��์Q/O�%0�2��%1�%CO
�O1#C'�1�Pค%��2%/�>��%%# 

1,849 7.39 73.96 

3.  #?�2%N�>�P1�22Q/O�%0�2��O2��
ค/2#ค>�N/O�Q�Pค%��2%/�>��%%# 

1,851 7.40 74.04 

4.  #?�2%%2$�2��'�2%� 2N�>��2��1�
Pค%��2%/�>��%%#�N122�2%�0 

1,841 7.36 73.64 

5.  �2%N�>�P1�22Q/O�%0�2���%/�21�
�2%� 2N�>�Pค%��2%/�>��%%# 

1,734 6.93 69.36 

6.  �2%� 2N�>��2�N�O�R��2#%0$0N/'2�?P
� 2/�� 

1,797 7.18 71.88 

7.  O�OR��ั�/2  O'0�2%�1�2�1�ค/2#
�O1��2%�1��%0�2�� 

1,807 7.22 72.28 

8.  �%0P$��์�?P�%0�2��R�O%1��2��2%
� 2N�>�Pค%��2%/�>��%%# 

1,685 6.74 67.40 

1// 7.29 72.90 

 

 2%B�%0�1�ค/2# @� 1Q��N1�'�2%� 2N�>��2��1�1�ค์�%��ค%1�2N/��O1��>P�  ("2 %/#)  ค>�N�O�
%O1$'0  72.90   
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ค ำ�?QO��  :  O���?P  2  O���%0N#>���N1�  P�$#?/1��B�%02�ค์N AP1�>��2#�'�2%� 2N�>��2��2#O��  "2$Q�OO�� 1��2�O1��>P�  ( .0. 2561 – 2565)  P�$#?� 2/��
%0$0N/'2Q��2%�>��2#O'0%2$�2��'�2%� 2N�>��2�1$N2��O1$�?'0/�@P�ค%1Q�  "2$Q�N�A1��1�/2ค#�1��B��? 
2N/%#?P  1  �O1/Cล#?P/R' 

 1.  �AP11�ค์�2%�%>/2%2N/�� 2�'�O2$/2� 

 2.  �2%%2$�2��'�2%� 2N�>��2�  �B'2ค#  2564 – �1�$2$�  2565 

2N/%#?P  2  (ล�ำ1  ำN%>%�ำ%!ำ/O�� 1��2�O1��>P�  ( .0. 2561 – 2565)   
 3.  � 2�/�Pค%��2%O'0���%0#2��2#O�� 1��2�O1��>P�  ( .0. 2561 – 2565) O'0N >P#N�>#/N�'?P$�O�'� ��1��?P 1 , ��1��?P 2 , ��1��?P 3 , ��1��?P 4  
��1��?P 5 , ��1��?P 6  O'0��1��?P  7  
 

 

 

0B#$0ำ2!1์ 
'? `cd_ '? `cd` '? `cda '? `cdb '? `cd5 1// 5 '? 

� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
_) $B��022�%์�2% 1��2
�O2�Pค%�2%O2� AQ��2� 

7 6,540,000 1 7,000,000 26 17,295,278 12 20,048,000 15 11,700,000 61 62,583,278 

`) $B��022�%์�2% 1��2
�O2�22�2%�2B� �2%
2N�N2%>#คB�"2 �?/>� 
�2%0@�12 �2%�?02 
0>'�/1���%%# �%0N �? 
O'0"C#>�ั��2�O1��>P� 

58 14,450,000 61 14,135,000 61 13,770,000 62 14,856,000 60 16,628,000 302 70,839,000 
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0B#$0ำ2!1์ 
'? `cd_ '? `cd` '? `cda '? `cdb '? `cd5 1// 5 '? 

� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
� ำ%/% 

Pค1��ำ1 
�&'1>/ำ� 

(&ำ#) 
a) $B��022�%์�2%
 1��2�O2��2%�1�
%0N�?$��B#��/21�ค# 
O'0�2%%1�12ค/2#2��
N%?$�%O1$ 

18 2,135,000 18 2,135,000 24 3,480,000 18 3,135,000 18 1,625,000 96 11,510,000 

b) $B��022�%์�2%
 1��2�O2��2%2N�N2%>#
N�1�% �2%'��B� 2�>�
$�%%# O'0�2%
�N1�N�?P$/ 

1 50,000 1 50,000 6 188,000 11 1,042,000 6 188,000 25 1,518,000 

c) $B��022�%์�2%
 1��2�O2��2%�%>/2%
�1��2%
�%1 $2�%�%%#�2�>O'0
2>P�O/�'O1#1$N2�$1P�$A� 

10 1,765,000 6 1,630,000 10 1,730,000 7 1,450,000 6 1,510,000 39 8,085,000 

d) $B��022�%์�2% 1��2 

�O2��2%�%>/2%�>��2% 

�O2�N#A1� O'021�ค#�?P�? 

19 2,252,000 24 4,322,000 25 9,617,000 23 7,217,000 23 5,217,000 114 28,625,000 

1// 
113 27,192,000 111 29,272,000 152 46,080,278 133 46,748,000 128 33,868,000 637 183,160,278 
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4.  (ล�ำ1  ำN%>%�ำ%!ำ/O(%พ?�%ำ  '?  2565  (!Bลำค/  2564 – �?%0ำ0%  2565) 

 Oำ%Pค1�21Oำ�พAQ%�ำ%   
 

ล ำ ?&#?P Pค1��ำ1 �&'1>/ำ�  (&ำ#) 
1 Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O�  �1$�O�/C�/2�  /#CN�?P  2 130,000 

2 �N12%O2���� ค2'.  %O1#/2��N1%0�2$�Q 2 ค2'. N$AQ1�02'2�%0�2ค#  /#CN�?P  6 497,000 

1//�&'1>/ำ� 627,000 

 

 O@%2@$@1�2B�  �@12N�N21>/คB�.@พช?/>!  �@10@�1@  �@1�?0@  0>ล'/?�%$11/  '1>Nพ�?
Oล>.C/>'ัญญ@#O1�">่% 
 

ล ำ ?&#?P Pค1��ำ1 �&'1>/ำ�  (&ำ#) 
1 �O2�N/#2$2# 180,000 

2 �O2�N/#2�%0�1�12/2%�'2�/1��1�N�O�N'O��%0� 20C�$์ 1��2N�O�N'O�  
1��.�O2$/2� 

257,265 

3 /�C�O1$/�?R! 7,442.40 

4 Pค%��2%2�1�2�B�คN2Q�O�N2$Q��2%�1��2%0@�122 2/%1�0C�$์ 1��2N�O�N'O� 144,910 

5 �1��AQ112/2%N2%># (�#) 2 2/%1��1�N%?$�O'0N�O�N'O��%0� 20C�$์ 1��2N�O�N'O� 
1��.�O2$/2� 

87,855.76 

6 �1��AQ112/2%N2%># (�#) 2 2/%1��1�N%?$�P%�N%?$�/1��O2$/2�( '1$N�?$N2O�) 215,896.82 

7 �1�/2ค%C22�2�2�Oค'�P%�N%?$�/1��O2$/2� ( '1$N�?$N2O�) 84,000 

8 2A�22�/1���%%#R�$ ���%? – �2�0>'�N AQ��O2� 50,000 

9 Pค%��2%N >P#�1�10�N2��%0N�0O�NN$2/��N�O22CN$Bค Thailand 4.0 96,000 

10 12/2%�'2�/1��1��1�N%?$�P%�N%?$�/1��O2$/2�  ( '1$N�?$N2O�) 445,200 

11  1��2คB�"2 �1�N%?$��1�P%�N%?$��O2$/2� 60,000 

12 Pค%��2% 1��2�2%N%?$��2%21�"212�?�%1�%1�  Thailand 4.0  O'0�%0�2ค#
12N�?$� 

180,000 

13 �1��2%0@�12�2#/'1��%1��2�1�N0%1��>� 1N ?$� 15,000 

14 �@�12�? �B#��� 2�'�O2$/2� 20,000 

15 Pค%��2%ค1�O$��$0�C%�2�2% 9,330 

16 Pค%��2%N�O2%0/1�/�O1��1�P%ค�>��N1 N�N� 1B�1�>Q/#N 1B�1�>�Q 2 N1�2์ /'/ 95,416 

17 Pค%��2%%�%�ค์�O1��1�P%คO'0�>��%%#�O2�22�2%�2B� 40,253.20 

18 Pค%��2%2N�N2%>#�2%1�B%1�1์�%1 $2�%�%%#�2�>O'02>P�O/�'O1# 12,370 

19 Pค%��2%21�/์�'1�P%ค  ค��'1�"1$  �2�P%ค >12B�1��O2 50,790 

20 1�B%1�1์O'02A�22��%0N �?'1$�%0�� 3,300 

21 1�B%1�1์O'02A�22��%0N �?/1�N�O2 %%12 3,350 

22 N�?Q$$1��? �CO2C�12$B 7,926,500 
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ล ำ ?&#?P Pค1��ำ1 �&'1>/ำ�  (&ำ#) 
23 2�1�2�B��2%N2%>#2%O2�2/12�>�2%�2�21�ค#Q/OO�Nค� >�2%/%A1�B  '"2  1,528,800 

24 N�?Q$$1��? �CO�N/$N1�2์ 30,000 

25 2�1�2�B�N�>�2#���1��B�/'1��%0�1�2B�"2 � 2�'�O2$/2� 94,500 

26 2�1�2�B�N�>�2#���1��B�2/12�>�2%�B#��� 2�'�O2$/2� 50,000 

1//�&'1>/ำ� 11,688,179.18 

 
 O@%�@1�? 1>N&?0&ชB/ช%/2?�ค/  Oล>�@11?�1@ค/@/2�&N1?0&1O10 
 

ล ำ ?&#?P Pค1��ำ1 �&'1>/ำ�  (&ำ#) 
1 �1Q��B��%>�2%�%0�2��Q�/1�/$B�N�0�2%�?Q/#N 11,276 

2 �1Q��B��%>�2%�%0�2��Q�/1�/$B�N�0�2%2��%2��์ 11,235 

3 �1��%0�2ค#/#CN�O2� 2,162 

4 2�1�2�B�O'02N�N2%>#�?P1N2�/�1�2A1 ># ์//2%22%�%0� 2/#CN�O2� 3,030 

1//�&'1>/ำ� 27,703 

 
 O@%�@1�@12N�N21>/�@1N�1!1  �@1ล�#B%พ@�>ช0�11/  Oล>�@1#N1�N#?่0/ 
 

ล ำ ?&#?P Pค1��ำ1 �&'1>/ำ�  (&ำ#) 
1 �O1��1�� 2�1�/�1�/1/� 2#0 %O2/ 14,850 

1//�&'1>/ำ� 14,850 

 
 O@%�@1&1>/@1�? �@1#1?พ0@�1$11/ช@!>Oล>2>่�O/ ลO1/10N@�0?่�0A% 
 

ล ำ ?&#?P Pค1��ำ1 �&'1>/ำ�  (&ำ#) 
1 Pค%��2%�1�N�O�O'0� 2�1��$0#C'�1$ 498,000 

2 Pค%��2%�B�'1�' 2�%0P���2N O�  /#CN�?P  4 25,000 

1//�&'1>/ำ� 523,000 

 
 O@%�@1&1>/@1�>��@1&O@%N/A1�#?่ ?  Oล>2?�ค/#?่ ? 
 

ล ำ ?&#?P Pค1��ำ1 �&'1>/ำ�  (&ำ#) 
1 /1�N�'># %0��# %%12   %0�2�2#N�O� %0N�O21$CN/1/  %1��2'�?P  10 

(/1��?P  28  �%��2ค#  �1��B��?) 
7,980 

2 /1�N�'># %0��# %%12  2#N�O� %0�2�N�O22B�>�2  (/1��?P  3  #>�B�2$�  �1��B��?) 6,800 

3 �2%N'A1��1Q�2#2�>�2"2�O1��>P�O'0�CO�%>/2%�O1��>P� 245,521.20 

4 /1�N�'># %0��# %%12  2#N�O� %0�2�N�O2 %0�%#%2�>�? 1��?/'/�   
(/1��?P  12  2>�/2ค#  �1��B��?) 

2,000 

1//�&'1>/ำ� 262,301.20 
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5.  21B'(ล�ำ1  ำN%>%�ำ%!ำ/O(%พ?�%ำ  '?  2565 
 

0B#$0ำ2!1 ์
Pค1��ำ1#?PN21O� 10CN1>//Nำ�  ำN%>%�ำ1 0?�R/NR O  ำN%>%�ำ1 Pค1��ำ1#?P0�Nล>� Pค1��ำ1#?PNพ>P/N!>/ 1//#?Q�#?Q�//  

� ำ%/% 1O10ล> � ำ%/% 1O10ล> � ำ%/% 1O10ล> � ำ%/% 1O10ล> � ำ%/% 1O10ล> � ำ%/% 1O10ล> 
_. $B��022�%์�2% 1��2 

�O2�Pค%�2%O2� AQ��2� 

2 13.34 - - - - - - - - 2 13.34 

`.  $B��022�%์�2%
 1��2�O2�22�2%�2B� 
�2%2N�N2%>#คB�"2 �?/>� 

�2%0@�12 �2%�?02 
0>'�/1���%%# �%0N �?
O'0"C#>�ั��2�O1��>P� 

26 43.34 - - - - - - - - 26 43.34 

a .$B��022�%์�2% 1��2
�O2��2%�1�%0N�?$�
�B#��/ 21�ค# O'0�2%
%1�12ค/2#2��N%?$�%O1$ 

4 22.23 - - - - - - - - 4 22.23 

b.  $B��022�%์�2%
 1��2�O2��2%2N�N2%>#
N�1�% �2%'��B� 

 2�>�$�%%#  O'0�2%
�N1�N�?P$/ 

1 16.67 - - - - - - - - 1 16.67 

c. $B��022�%์�2% 1��2
�O2��2%�%>/2%�1��2%
�%1 $2�%�%%#�2�>O'0
2>P�O/�'O1#1$N2�$1P�$A� 

2 33.34 - - - - - - - - 2 33.34 

d. $B��022�%์�2% 1��2
�O2��2%�%>/2%�>��2%
�O2�N#A1��?P�?  O'021�ค#
�?P�? 

4 17.40 - - - - - - - - 4 17.40 

1// 39 30.47 - - - - - - - - 39 30.47 
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6.  �ำ1N&>��Nำ0�&'1>/ำ�  '?  2565 

 

0B#$0ำ2!1 ์
 

�&'�!> N�>%2>2/ �&/%N/0�ำ%1AP% 1// 

� ำ%/%N�>% 1O10ล> � ำ%/%N�>% 1O10ล> � ำ%/%N�>% 1O10ล> � ำ%/%N�>% 1O10ล> 
_. $B��022�%์�2% 1��2 

�O2�Pค%�2%O2� AQ��2� 

627,000 5.36 - - - - 627,000 5.36 

`.  $B��022�%์�2% 1��2
�O2�22�2%�2B� �2%
2N�N2%>#คB�"2 �?/>� 

�2%0@�12 �2%�?02 
0>'�/1���%%# �%0N �?
O'0"C#>�ั��2�O1��>P� 

11,688,179.18 70.30 - - - - 11,688,179.18 70.30 

a .$B��022�%์�2% 1��2
�O2��2%�1�%0N�?$�
�B#��/ 21�ค# O'0�2%
%1�12ค/2#2��N%?$�%O1$ 

27,703 1.71 - - - - 27,703 1.71 

b.  $B��022�%์�2% 1��2
�O2��2%2N�N2%>#N�1�% 
�2%'��B�   2�>�$�%%#  
O'0�2%�N1�N�?P$/ 

14,850 7.90 - - - - 14,850 7.90 

c. $B��022�%์�2% 1��2
�O2��2%�%>/2%�1��2%
�%1 $2�%�%%#�2�>O'0
2>P�O/�'O1#1$N2�$1P�$A� 

523,000 34.64 - - - - 523,000 34.64 

d. $B��022�%์�2% 1��2
�O2��2%�%>/2%�>��2%
�O2�N#A1��?P�?O'021�ค#�?P�? 

262,301.20 5.03 - - - - 262,301.20 5.03 

1// 13,143,033.38 38.81 - - - - 13,143,033.38 38.81 

2N/%#?P  3  (ล�ำ1  ำN%>%�ำ%!ำ/Pค1��ำ1#?PR O1?&N�>%1B /%B%N�พำ>�>� 

 7.  Pค1��ำ1#?PR O1?&N�>%1B /%B%N�พำ>�>�'1>� ำ'?�&'1>/ำ�  2565 
 

Pค1��ำ1 
(ล�ำ1  ำN%>%�ำ% �&'1>/ำ� 

  ำN%>%�ำ1
N21O�OลO/ 

10CN1>//Nำ�
  ำN%>%�ำ1 

0?�R/NR O
  ำN%>%�ำ1 

�&'1>/ำ�#?P
R O1?& 

�&'1>/ำ�#?P
N&>��Nำ0R' 

 - - - - - 

1// - - - - - 
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2N/%#?P  b  'ัญ/ำOล>1B'211คQ%�ำ1'�>&?!>�ำ% 

  1.  � 2�/�Pค%��2%/�>��%%#  Q�O�� 1��2�O1��>P�  �?P�%%�BQ�O�� 1��2�O1��>P�               
( .0.  `cd_ – `cd5)  #?� 2�/�#2�  1�ค์�2%�%>/2%2N/�� 2�'�O2$/2�R#N22#2%�� 2N�>��2%R�O�1Q�/#� 

  2.  �%0�2��Q� AQ��?P�%0�1�12�? �N2��1�R�  N�N�  �%0#�  %1��O2��1P/R�  /%A112�? 1AP�N  
�@�R#N#?N/'2�?P�0#2%N/#N/�?�%0�2ค#R�O�1Q�/#� 

  3.  �2%�1��>��%%#�2�Pค%��2%R#N22#2%�� 2N�>��2%R�OQ�2�2��2%�์�2%O %N%0�2��1�
P%ค�>�N�AQ1R/%12PคP%�N2 `^_g (COVID 19) �1Q�O�N�'2$�?  62  ���@��ั��B�1�  

 �O1N2%1O%> 

  _.  �1N2�1Pค%��2%%�%�ค์�O1��1�N�O��#�Q 2 N %20N�O�Pค%��2%�?P�?O'0#?�%0P$��์�N1N�O� 
#?�2%�@�/�'C��ั� Q/ON/#202#�1�/1$N�O��0R�ON%?$�%CO �@�1$2�Q/O�%%�BQ�O�� 1��2�O1��>P� 

  2.  N#AP1� 2N�>��2%�2#Pค%��2%/�>��%%#  �2#O����>�1�>�2��?P/2�R/ON2%O�2>Q�O'O/                   
Q/O%2$�2��'�2%� 2N�>��2�  �ั�/2  1B�2%%คO'0�O1N2�1O�0Q/O�CO�%>/2%�%2�  N AP1�?P�CO�%>/2%�O1��>P�
%2$�2��N12"21�ค์�2%�%>/2%2N/�� 2�'�O2$/2� ค�0�%%#�2% 1��2�O1��>P�  O'022#2%�Q�ON�O��O1#C'Q�
�2%/2�O��� 2N�>��2�N AP1 1��2/N >P#N�>#/�%1��%B� �2% 1��2�O1��>P��N1R�  �2#%0N�?$��?P� 2/��  

 2N/%#?P   5  �O12?�N�!�ำ1!> !ำ/Oล>'1>N/>%(ล�ำ1  ำN%>%�ำ%!ำ/O(%พ?�%ำ#O1�">P%           
(พ.0. 256_ – 2565) 
  1.  N AP1Q/O�2%�%>/2%���%0#2�%2$�N2$�1� 1�ค์�2%�%>/2%2N/�� 2�'�O2$/2� N�O�R�
�2#/>21$�10�์�1�1�ค์�2%�%>/2%2N/�� 2�'�O2$/2�  O'0N AP1Q/O N�>��%0P$��์2C�2B��N1�%0�2��                      
#?�O1N2�1O�0Q/O�2$�1�ค์�2%�%>/2%2N/�� 2�'�O2$/2�  � 2N�>��2%Pค%��2%�O2��2% 1��2N AP1Q/O�%%'B
/>21$�10�์�1�1�ค์�2%�%>/2%2N/�� 2�'�O2$/2� �?P/N2 

 <#Oำ0/ำ %Nำ10CN  คCN&1>/ำ1�? �ำ1&Oำ%N/A1�#?P ?  /?�ำ12N�N21>/1ำ�?พOล>�ำ10@�1ำ พ?�%ำ
O&&/?2N/%1N//  0@ /ล?��1�'1?�ญำN011��>�พ1Nพ?0�=  O'0$B��022�%์�O2�Pค%�2%O2� AQ��2� � 2N�>��2%
คN1��O2�'N2�O2  
  2.  N AP1Q/O�2%�%>/2%���%0#2�%2$�N2$�1� 1�ค์�2%�%>/2%2N/�� 2�'�O2$/2�  N�O�R�
�2#O���2��N2�N  O'0N�>�ค/2#ค'N1��1/  P�$Q/O� 2�1�  /%A121P��2%Q/ON�O2/�O2�?P�CO%1��>��1�  Q�O%0��
��>�1�>�2��O2��2%ค'1���%0��  e-LAAS  �@P��022#2%�� 2�'�2%Q�O�N2$#2/>Nค%20/์O'0�%0N#>��'R�O1$N2�
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N'1?0&N#?0&�ำ1  ำN%>%�ำ%!ำ/O(%�ำ1  ำN%>%�ำ%Oล>�ำ1Q�O�Nำ0�&'1>/ำ�!ำ/�O1&?ญญ?!>  
 � ำ%/% a '? 0O1%/ล?�  (พ.0. `c63 – `cd5)  

1�ค์�ำ1&1>/ำ12N/%! ำ&ล#Oำ0/ำ   1 ำN.1N/A1�2/B#12�ค1ำ/  �?�//? 2/B#12�ค1ำ/ 

---------------------------------------- 

/?% N A1% '? 

Pค1��ำ1 
Q%O(%  ำN%>%�ำ% 

/ 
(� ำ%/%) 

Pค1��ำ1#?P# ำR O 
/ 

(� ำ%/%) 

Q�O�Nำ0�&'1>/ำ� 

(&ำ#) ค> N'็%1O10ล> //ำ0N/!B 

'?�&'1>/ำ�  พ.0.  2563 

-  /O/�N/'2�1Q�O�N : N�A1��B'2ค# 
2562 �@� N�A1��1�$2$� 2563 
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�B��? 
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21B' :  1ำ0ล>N1?0 �ำ1  ำN%>%Pค1��ำ1!ำ/O(%�ำ1  ำN%>%�ำ% a '?  (พ.0. `c63 – `cd5) 

 1//Pค1��ำ1#?Q�//   (!ำ/�O1&?ญญ?!>)  � ำ%/%  a  '?     =    _e8  Pค1��ำ1 
ค> N'็%1O10ล> _^^ 

 1//Pค1��ำ1 (O(%  ำN%>%�ำ%#?P# ำR O)  /  a  '?             =     _04  Pค1��ำ1 
ค> N'็%1O10ล>  58.43 

 1?!1ำN�ล?P01//Pค1��ำ1  /  a  '?     ำN%>%�ำ1R O'?ล>    =      35  Pค1��ำ1 

 �&'1>/ำ�#?Q�  3  '?#?PQ�O�1>�     =   44,039,338.86  &ำ# 

 �&'1>/ำ�#?P!?Q�R/O  #?Q�  3  '?     =   46,491,114.42  &ำ# 

 ค> N'็%1O10ล>       =   95  %   
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Pค1��ำ1!ำ/O(%พ?�%ำ#O1�">P% (พ.0. `cd_ - `cdc) 
Oล>O�OR�/Nพ>P/N!>//N'ล?P0%O'ล� "@� �&?&#?P 7 
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